
2-17. Two smooth disks A and B of 5 kg and 8 kg, respectively, collide with initial velocities 
2 2

1 1 1( ) ( , ) (2,0.1 ) m/sA A Av N Nm s =  and 2 2
1 1 1( ) ( , ) (3,0.2 ) m/sB B Bv N Nm s = .  If the coefficient 

of restitution for the disks is 0.8e = , determine the x  component of the final velocity of each 
disk just after collision. 

 
Solution: 

Resolving the initial velocities into x  and y  components, 
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Line of impact 

Plane of impact 
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Thus, we have  
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Therefore, 2
2( ) ( 1.85,0.11 ) m/sAxv N −−  and 2

2( ) (0.74,0.15 ) m/sBxv N .                          Ans. 

 

 

 

 

 


